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CHEM-101: Dr. Miroslav Rezac

Homework #10

1. Methane (CH4; 5.300g) reacts with 10.250g of molecular oxygen. What will be the masses of products? The equation for oxidation of methane (burning) is shown below.
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2.
Ethanol (C2H5OH; 5.500 grams) reacts with oxygen (O2; 2.500g) to give water (H2O) and carbon dioxide (CO2). Please calculate the number of grams of each product generated. 
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3.
Ammonium nitrate (8.75g) decomposes and gives laughing gas (N2O) and water. How many grams of each is produced? 
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4.
Chloropropane (C3H5Cl; 3.500g) reacts with oxygen (1.500g). How much of each product will you obtain? 
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5.
Potassium bromate (2.5 g) reacts with 7.5 g of hydrogen monobromide. What will be the masses of KBr and Br2 formed in this particular reaction? The balanced equation for the reaction is shown below.
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6.
Copper (8.500g) reacts with nitric acid (HNO3). How many grams of each product will you get? How many grams of nitric acid do you need?
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